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7 Steam flowing through a long, thin-walled pipe main-
tains the pipe wall at a umform temperature of 500 K.
The pipe is covered with an insulation blanket comprised
of two different materials, A and B.
=5
—)

s B = 50 mm
rp=100mm
> ~
7 :‘,,4’ ¢ N\ /—_—}; ky = 2 WImK
P \ \ ‘ -—/ kg = 0.25 W/m-¥
n

T, =500 K \\\\‘3/2/ /// T“U

The interface between the two materials may be as-
sumed to have an infinite comact resistance, and the kH
entire outer surface is exposed to air for which 7, =

25 Wim* - K

(a) Sketch the thermal circuit of the system. Label
(using the above symbols) all pertinent nodes and
resistances l =
(b) For the prescribed conditions, what is the total Cowy ,)Q
heat loss from the pipe? What are the outer surface \\
temperatures 7, 5, and 7, 25,7

NSS]M}WI SO‘H«VL
goTois <HMN
O\xis‘d’mm"Q

>/§éﬁ S gqiscatgud B

Heat Transfer Page 3



) g MK /
= 5 =M
S b= o
A= ST
- ARk
6({” y\.'l- T,
. 2%, S (52 :
@,m) he S D=2

\ QL: %:—\9—\ @)ﬁy\&&s\\\\imﬂ = \N{]va\hc divmikey

225 = Kivewnbic vic@rH
<'W\0MMW J""‘%’AV"@

Grhend wnsulab o i derit %W o wdokien o
sodiws T; ,coveved kg &n s

Sickra 52 vy [ ekl odervadivg |

cvibheal inslabion Tricka appesr Jere




